
128 64 32 16 8 4 2 1

Calculate the binary value of the IP address:

10 0 55 191 195 55 167 245

155 176 0 56 2 124 52 88

Find the network address and broadcast address:

192 168 55 191

Network Address:________________________

255 255 255 224

Broadcast address:_______________________

11 55 170 41

Network Address:________________________

255 255 252 0

Broadcast address:_______________________

212 80 52 3

Network Address:________________________

255 255 255 0

Broadcast address:_______________________

7 152 170 77

Network Address:________________________

255 128 0 0

Broadcast address:_______________________


